SERVICE

= | 3

H)Husqvarna

oé“ =
@:7?5 — (10100018

IPL, Trimmerheads, 2001-03, 106 23 28-70

Trimmerheads

Spare parts
Ersatzteile

Piéces détachées
Reserve onderdelen
Repuestos
Reservdelar

106 23 28-70




Trimmy S *compl 508 01 01-02

*508 01 51-25 508 01 51-54* (M12x1.75)

502 09 25-01* (M10x1.5)
*508 01 51-04

*508 01 51-30

508 01 51-15*

*508 01 51-08

*508 01 51-09

508 01 51-24*

502 26 22-02*

Trimmy Sl

*502 26 04-01

*compl 502 26 08-01

*502 25 56-01
*502 25 53-015

*502 25 52-01

—— 502 26 24-01*
740 43 14-00*

2>
*729 53 27-71 (x3)
*502 26 01-01 %@

<>—— 735 31 19-00*

*738 21 03-04

*502 26 03-01

502 27 07-01*

502 26 86-01*

Trimmy H2 M10
Trimmy H2 M12

*compl 531 00 60-92
*compl 531 00 38-64

(M10x1.25) 531 00 42-78 531 00 42-64*

(M12x1.75) 531 00 42-80

*531 00 42-79

*531 00 42-60

*531 00 42-69

Trimmy Hit Pro M10

*531 00 42-70

*531 00 42-73

*501 95 44-01

*531 00 42-76

*compl 503 78 78-01

531 00 42-72*

531 00 42-75*

531 00 42-77*




Superauto Il *compl 531 00 38-09
Superauto Il 1”7 *compl 531 00 60-93

*531 00 42-51

*531 00 42-50

531 00 42-55* 1"

531 00 42-52* 20mm

531 00 42-53*

Tri Cut M10x1.25 (300mm) compl 531 00 38-11
Tri Cut M12x1.75 (300mm) compl 531 00 38-24

531 01 77-11 (x3)

22 mm 531 01 77-12
24 mm 531 00 42-04

53101 77-14
(255mm (x3)
53101 77-15
(300mm (x3)

53101 77-13
(x3)
53101 77-16
(x3)

53101 77-18

53101 77-17

22 mm
531 01 77-10]

M12x1.75
531 00 38-82
M10x1.25

531 00 42-03
M12x1.75
531 00 42-02
M10x1.25
24 mm

[ —

Trimmy Hit Pro Junior 3/8"-24R

531 00 42-16*
*531 00 42-14

531 00 42-16*

531 00 42-19*

*531 00 42-18

531 00 42-13*

*531 00 42-15

*compl 531 00 75-28

Trimmy Hit VI 3/8”-24R

*530 06 98-76

*530 09 48-30

*530 09 48-27

*952 70 85-63

*530 09 48-28

*compl 952 70 85-62




Trimmy Hit *compl 531 00 75-27

*531 00 42-07

Tri Cut 3/87-24R (230mm) *compl 531 00 75-35

53101 77-14
(255mm (x3)

531 00 42-08
3/8"-24R

531 00 42-11

Supporting cup *compl 502 15 70-01

*503 21 31-08 (x3)

502 15 72-01*

738 21 03-04*

o 502 17 66-01*

*502 25 20-01

502 26 22-01*

Trimmy Hit VII *compl 531 00 75-84

530 09 56-77*

fﬁ 530 40 19-57*
%? 530 05 32-41*

530 05 32-46*




Guard

*compl 537 02 61-01
322C

*530 05 22-87
*503 21 75-16

*compl 503 93 42-02
322 R

325 R-X

325 RJ-X

325 R-XT

*503 21 07-16

*compl 537 07 67-01
325 C-X

503 79 88-01*

322 L
325 L-X
325 L-XT

240
245
250
252

*503 77 63-01

*compl 503 97 71-01

’ 503 79 88-01*

*compl 503 74 50-04
225
232
235

*503 21 07-16

*503 79 88-01

Trimmy cord

9

L@

S

Product

21,5 mm

15 m blue

10 m reel for 300 S
10 m reel for Duo
10 st for 6 RC
22,0 mm

15 m green
90 m green
22,4 mm

15 m orange
90 m orange
240 m orange
@2,7 mm

15 m yellow
90 m yellow
240 m yellow
23,0 mm

10 m red

90 m red

240 m red
23,3 mm

75 m white

Pre cut for Trimmy Fix

20 strings 82,4 mm

Product No. Product

531 00 38-55 Whisper

506 68 26-01 21,5 mm

964 63 57-00 15m

531 00 38-51 22,0 mm
15m

531 00 38-56 22,4 mm

531 00 38-57 15m
23,0 mm

531 00 38-58 10 m

531 00 38-59

531 00 38-60

531 00 75-66

531 00 75-67

531 00 75-68

531 00 38-61

531 00 38-62

531 00 38-63

502 26 19-03

502 13 86-01

Product No.

531 00 60-80
531 00 60-81
531 00 60-82
531 00 60-83

503 74 29-01*

503 21 07-16*




